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1 QOOCHE20R 00.000 00,000 00,000 00.000
2 Slelaie 188 00,000 00.000 00,000 00.000
3 OO0 00,000 00.000 00,000 00.000
4 COOCFESOR 00,000 00,000 00,000 00.000
5 QOO CEC0OR 00.000 00.000 00,000 00.000
& LDOOCEOOHR 00,000 00.000 00,000 00.000
7 JOOCEOOR 00.000 00.000 00,000 00.000
8 COOOHFC0OR 00,000 00,000 00,000 00.000
2] QOO CSEC0R 00.000 00,000 00,000 00.000
10 | COOCHES0OR 00,000 00.000 00,000 00.000
11 JOOTEDOR 00.000 00.000 00,000 00.000
12 | QOOSFEC0R 00,000 00,000 00,000 00.000
13 | QOOTECOR 00.000 00,000 00,000 00.000
14 | QOOCEO0R 00,000 00.000 00,000 00.000
15 OO0 00,000 00.000 00,000 00.000
16 | COOSHESOR 00,000 00,000 00,000 00.000
17 | QOOCECOR 00.000 00.000 00,000 00.000
18 | QOOCE00R 00,000 00.000 00,000 00.000
18 | OOQCF00H 00.000 00.000 00,000 00.000
20 | OOOCEC0A 00,000 00,000 00,000 00.000




